



Step 1° Divide  $a$  &  $b$  each into 2 roughly  $n/2$ -bit numbers.

Ex! 
$$\begin{array}{c|c} 11 & 01 \\ \hline a' & a'' \end{array} \quad \begin{array}{l} \text{Dec}(a') = 3 \\ \text{Dec}(a'') = 1 \end{array} \quad \left| \begin{array}{l} \text{Dec}(a') \cdot 2^{4/2} + \text{Dec}(a'') \\ = 3 \cdot 2^2 + 1 = 13 \\ = \text{Dec}(a) \end{array} \right.$$

$$a = a_{n-1} \dots a_0$$

$$\begin{array}{l} a' = a_{n-1} \dots a_{\lceil n/2 \rceil} \\ a'' = a_{\lceil n/2 \rceil} \dots a_0 \end{array}$$

#bits  $= n - \lceil n/2 \rceil$

Lemma ° 
$$\text{Dec}(a) = \text{Dec}(a') \cdot 2^{\lceil n/2 \rceil} + \text{Dec}(a'')$$

$$\text{Dec}(a'') = \sum_{j=0}^{\lceil n/2 \rceil - 1} a_j \cdot 2^j$$

$$\begin{aligned} \text{Dec}(a') &= a_{n-1} \cdot 2^{n-\lceil n/2 \rceil - 1} + \dots + a_{\lceil n/2 \rceil + 1} \cdot 2^1 + a_{\lceil n/2 \rceil} \cdot 2^0 \\ &= \sum_{j=0}^{n-\lceil n/2 \rceil - 1} a_{\lceil n/2 \rceil + j} \cdot 2^j \end{aligned}$$

$$\text{Dec}(a') \cdot 2^{\lceil n/2 \rceil} = 2^{\lceil n/2 \rceil} \cdot \sum_{j=0}^{n-\lceil n/2 \rceil - 1} a_{\lceil n/2 \rceil + j} \cdot 2^j = \sum_{j=0}^{n-\lceil n/2 \rceil - 1} a_{\lceil n/2 \rceil + j} \cdot 2^{\lceil n/2 \rceil + j}$$

$$\Rightarrow i = \lceil n/2 \rceil + j$$

$$= \sum_{i=\lceil n/2 \rceil}^{n-1} a_i \cdot 2^i$$

$$\text{Dec}(a) = \sum_{i=0}^{n-1} a_i \cdot 2^i$$

$$= \sum_{i=\lceil n/2 \rceil}^{n-1} a_i \cdot 2^i + \sum_{i=0}^{\lceil n/2 \rceil - 1} a_i \cdot 2^i$$

$$= \text{Dec}(a^1) \cdot 2^{\lceil n/2 \rceil} + \text{Dec}(a^0)$$

□

$$b = b_{n-1} \dots b_0$$

$$\text{Dec}(b) = \text{Dec}(b^1) \cdot 2^{\lceil n/2 \rceil} + \text{Dec}(b^0)$$

$$b^0 = b_{\lceil n/2 \rceil - 1} \dots b_0$$

$$b^1 = b_{n-1} \dots b_{\lceil n/2 \rceil}$$

$$\text{Dec}(a) \cdot \text{Dec}(b) = (\text{Dec}(a^1) \cdot 2^{\lceil n/2 \rceil} + \text{Dec}(a^0)) \cdot (\text{Dec}(b^1) \cdot 2^{\lceil n/2 \rceil} + \text{Dec}(b^0))$$